Vesas

Vocas Systems b.v. info@vocas.com www.vocas.com
USBP 15 MKII for Sony PXW-FS7 / FS7 1I

0350-2207
Version Date: 22-3-2017 10:34

Page: 1/1

Item Part Number Qt Description

1 0350-2255 1 Camera adapter plate for Sony PXW-FS
2 11.250.05 1 USBP 15 MKII base plate

3 09.026.01 5 | Spring 6,5x5,5xL10

4 09.016.03 5 | Nut M4 for winged nut hexagonal
5 11.007.01 5 | Ring 4,3x8x0,5 Din 433 St-Zn

6 04.037.01 5 | Screw M4x25 din 965 A2

7 11.008.03 5 | Winged nut hexagonal small

8 0350-2310 1  Shoulder pad standard

9 11.260.01 2 | Magnet S-10-01-STIC

10 1 09.027.01 1 Hex. key 5mm. Unbrako DIN 911 kort
11 | 09.065.01 2 | screw M6x25 DIN 912 A2-70

12 1 11.257.01 1 | Clamping block 15mm USBP MKII
13 | 0350-9210 2 | Pipe 210 mm. Sony Assy

14  11.258.01 3 Magnet CSN-13

15 09.204.01 3  Screw M2,5x8 DIN 965H ZnZ

16  11.259.01 1 spring 2.9x13 C93

17 11.253.01 1 Safety lock lid

18 | 744003 4  Screw M2X5 DIN965 4.8 ZN Z

19 11.254.01 1 Safety lock pin I

20 11.255.01 1 Safety lock slider

21 1 09.023.01 1 Screw M2,5x3 1S01207 4.8 Zn

22 11.125.01 1 Pull bolt M8 11l

23 746202 2 | Spring 1.9x6.3 CS62

24 1 11.127.02 1 Lock lever M8 I

25 11.129.02 1 Dove tail lock plate

26 03.034.01 1 Alignment card AC-002




